o
[N

S n
8 f
N OB <ok de b
S C
te] 0_1:_ ................................................
\" -

[-rorrrrnmrrrennrrnrenet [ M

-1 0 1 2 3
TP n (PCA to beamline)

Ratio

< d cot(B) >
o
n O
[6)] N

o
i

-2

................................................

-1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_original_step2__pt1000_eta2p5to4p0
—e— DQM_mkFit_step2__pt1000_eta2p5to4p0

—— DQM_pixelCPETemplate_step2_ pt1000_eta2p5to4p0

=
o
o

<o dxy > (um)

N
o
I

©

(=}
I
;

o
(=}
I

Ratio

-1 0 1 2 3

< > (Y
o p,/p, > (%)
O = N W N O

T 0 1 2 3
TP n (PCA to beamline)

— 100

<dd,>(um

Ratio

80

60

40

20

7. SRR RRRRRE femennnes Beeeees fornenens Feee
LAE-eeeeee PP PPE ARPPRRRS R SOt
| SRRRRES EEECCTTE TERPIPR STCTOOIY SRRRPRRE SOLY.
0.9E : : : ; :
= -2 -1 0 1 2

TP n (PCA to beamline)



	Contents
	Page 1


